/8"

MOUNTING DETAIL

19 3/4"

171

@8 5/8" BOLT CIRCLE

1/4" @ MOUNTING
HOLES
(4 REQUIRED)

/16"

J-BOX
"BY
OTHERS"

[

\<<>_._. LINE

CAST ALUMINUM
PLATE

12"

WG012

WM880

CAST ALUMINUM DECORATIVE
WALLMOUNT ASSEMBLY

13 3/4"

3/8-16 S/S SET
SCREW (3 REQ.)

LED DRIVER
(WIRED @ 120/277)

"SPHERE" STYLE LUMINAIRE ASSEMBLY

12"@ WHITE POLYCARBONATE GLOBE

32W LED TOWER
COLOR TEMP: 3500K
TYPE "V" DISTRIBUTION

PERFORATED BALLAST HOUSING

PROPORTIONAL VIEW




16-0"
TOTOP

SHAFT

18" WHITE POLYCARBONATE GLOBE

32W LED TOWER
COLOR TEMP: 3500K
TYPE "V" DISTRIBUTION

1/8" CAST ALUM. PLATE
1/8" THK. ALUM. L-BRACKET

LED DRIVER
(WIRED @ 120/277V)

DECORATIVE CAST ALUM.
FITTER

PC
BUTTON PHOTO CELL

4816.125
/_ROUND,STRAIGHT, SMOOTH

ALUMINUM POLE

CB1202
CLASSIC STYLE ALUMINUM BASE

/—CAST ALUMINUM DECORATIVE NECK

BASE BOTTOM

CAST ALUMINUM
DECORATIVE\
[
1

CAST ALUMINUM I
HAND HOLE p——
/‘I_

N

/—6"@ DECORATIVE COLUMN

@15" BASE PLATE

(4 REQ. EQ. SP.)

| Access HoLE

MOUNTING DETAIL

CONDUIT BY OTHERS

CONCRETE FOOTING
DESIGN & PROVIDED
BY OTHERS

#=3/4"0 X 18" GALVANIZED STEEL ANCHOR BOLT
(4 REQUIERED)

SLOT FOR 3/4" ANCHOR BOLT

@10" BOLT CIRCLE

PROPORTIONAL VIEW *UL uistep

* 9044 Del Mar Ave.
) Montclair, Ca. 91763

” (909)-982-1807
(909)-985-4310:fax
BATH BARS® RLM @ PENDANTS @ POLESe CASTINGS

[QUOTE# QVR3083 |TYPE:M
CB1202-4516.125-LF1118-WH-32LED-T5-35K-PC-120/277V

"SR #41-BLACK POWDER COAT |™'J LLAMAS
DATE05/09/13 FCALE: N TS |QTY: 2 REV: [SHEET: 2 of 3




26"

32W LED TOWER
COLOR TEMP: 3500K
TYPE "V" DISTRIBUTION

1/8" CAST ALUM. PLATE
1/8" THK. ALUM. L-BRACKET

LED DRIVER
(WIRED @ 120/277V)

DECORATIVE CAST ALUM.
FITTER

PC
BUTTON PHOTO CELL

100"
TO TOP

SHAFT

4816.125
/_ROUND,STRAIGHT, SMOOTH
ALUMINUM POLE

CB1202
CLASSIC STYLE ALUMINUM BASE

4"

CONDUIT BY OTHERS:

CONCRETE FOOTING
DESIGN & PROVIDED
BY OTHERS

CAST ALUMINUM
DECORATIVE
BASE BOTTOM

CAST ALUMINUM
HAND HOLE

/—CAST ALUMINUM DECORATIVE NECK

215" BASE PLATE (4 REQ. EQ. SP.)

ACCESS HOLE
[
I MOUNTING DETAIL
I
4 I
| |
—— GROUND LINE
G T SHREN
T el SR
{' : ‘.’;%?m.| L
o s 3140 X 18" GALVANIZED STEEL ANCHOR BOLT

3 ig (4 REQUIERED)

/—6"125 DECORATIVE COLUMN
SLOT FOR 3/4" ANCHOR BOLT

@10" BOLT CIRCLE

PROPORTIONAL VIEW *UL usten

*_ 9044 Del Mar Ave.
\ ontclair, Ca. 91763

M
(909)-982-1807
(909)-985-4310:fax
BATH BARS ® RLM ® PENDANTS @ POLES® CASTINGS

QUOTER QVR3083 I‘I’V?E:
PARTH
CB1202-4S10.125-LF1118-WH-32LED-T5-35K-PC-120/277V

DRAWN BY:

"M% 4#41-BLACK POWDER COAT T LLAMAS
DATE: ISCALE: QTY: [REV: [SHEET:
05093 N.T.s. |

2 3of 3




